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Measurements with new PMT holder

* Not enough space in x- and
Z-axIs

* Move the PMT

* Take measurement from -50
to O degrees
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The efficiency dropped at -50 degrees.
Gain is almost uniform. 3
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TTSis larger and TT is smaller at larger angles.
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(2)BCO035/+1200 V rotated
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TTS is smaller and TT is larger at larger angles.
Opposite trend as before rotation.
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The efficiency dropped at -50 degrees.
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number of photoelectrons/monitor mean
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The efficiency and the gain are smaller at -50 degrees.
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TTS is smaller and TT is larger at larger angles.

Opposite trend as before rotation.



number of photoelectrons/monitor mean

(7)BCO038/-1200 V

c — ¥2 [ ndf 11.3/5
: 2 L pO 0.942 + 0.003307
- 0.96|—
0.92— =
: % : ]
osl- 0.95—
0.88— <}> % 0.94—
0.86 :— % % 0.93—
0.84— % N
- 0.92—
- N L | | L]
0-82 __I | | | | | | | | | | | | | | | | | | | | | | | | | | -50 -40 -30 -20 -1 ﬂ D
-50 40 =30 =20 -10 0 degrees
degrees .
Number of p.e. gain

The efficiency dropped at -50 and 0 degrees.
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number of photoelectrons/monitor mean

(®)BC0038/-1200 V rotated
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Conclusion

* The efficiency (and gain?) drops at -50 degrees with BCO035.
* The efficiency is highest at -40 degrees with BCO038.

 TTS is larger and TT is smaller at larger angles.
* When rotated, the trends of TTS and TT also rotate.
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